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Motion along circular J

arcs, since perpendicular

to Coulomb force, does
not change work done.
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9.0 X 10° =
| volts Coulomb potential of
positive charge is positive...
° —
6.0%10% ...and decreases toward
zero in inverse proportion
30x10° | to distance.
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toward zero.

...and increases
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The electron is initially |

atrest far away. \0
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We wish to find speed
. of electron when it has
proton, +e fallen to this distance. o,
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For empty cavity, any field line would Com R?@? ~ R

have to begin and end at surface.

 Path parallel to field line
would imply a potential
difference: impossible!
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_Electric field is zero .
everywhere in cavity.
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Sphen il

1 3@Q || insidea conductor, A
4mey 2R | | potential is constant.
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Inward radial path
for calculation of [
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To find the
# potential at

z |a _oo_sn Pon

mx_m of ring...

Y

...we sum point-charge | | Each element
contributions from || is same distance
charge elementsd@. || from P.
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How will the potential vary
on each canductor?

a. Since there-are-many
Conductors, the potential will
vary on each conductor |
b. Each conductor will have its
unique constant potential 4
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